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" Tracking in a Ring



L1 B=1cm

22 cm long Lithium Rod
10 cm radius

10 um RF Cavity
200 MHz




a muon Ap/Hp=-1%, Ay=1T mm atz=0
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L1p3=(4,1,4) cm

10 cm radius

22 cm long
Central Lithium Rod




L1p3=(4,1,4) cm




Li B=(4,1,4) cm

a muon ApAp=-1%, Ay=1 mm atz=0
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L1p3=(4,1,4) cm




Li B=(4,1,4) cm
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Li p=(4,1,4) cm




Li B=(4,1,4) cm
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Li B=(4,1,4) cm
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L1 B=(4,1,4) cm + Quad. Matching Cell




L1 3=(4,1,4) cm + Quad. Matching Cell




L1 3=(4,1,4) cm + Quad. Matching Cell

a muon ApH=-1%, Ay=1 mm atz=0
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L1 3=(4,1,4) cm + Quad. Matching Cell
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L1 3=(4,1,4) cm + Quad. Matching Cell

dx/dz vs. =z




L1 3=(4,1,4) cm + Quad. Matching Cell




L1 3=(4,1,4) cm + Quad. Matching Cell




,1,4) cm + Quad. Matching Cell
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L1 3=(4,1,4) cm + Quad. Matching Cell
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L1 3=(4,1,4) cm + Solenoid Matching Cell
only matching cells are shown




L1 3=(4,1,4) cm + Solenoid Matching Cell




L1 3=(4,1,4) cm + Solenoid Matching Cell




L1 3=(4,1,4) cm + Solenoid Matching Cell
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L1 3=(4,1,4) cm + Solen. Matching Cell

= Solenoid Matrix of SYNCH 1s used in
ICOOL. Need edge Bz field in ICOOL.

B function in ICOOLwas checked and OK.
» Tapered the Lithium lens current, and

getting emittance development at 250
MeV/c .



Summary

* Beam dynamics study in straight channels
show promising transverse cooling through
Lithium lenses

* Momentum acceptance of the channel 1s a
key 1ssue 1n the muon cooling with Lithium
lenses

* Study 1n a Ring Cooler 1s the next step.
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